Matrikelnummer [1. Aufgabe |2. Aufgabe |3. Aufgabe (4. Aufgabe |[1. Teilklausur | [Summe

k0008268 k.A. k.A. k.A. k.A. n.A. 0
k0372067 5 5 4 K.A. 14,5 28,5
k0557008 k.A. k.A. 3,5 k.A. n.A. 3,5
k0955365 K.A. 4 3,5 6 10,5 24
k1156395 4 5 k.A. k.A. 10,5 19,5
k1261314 K.A. 4 3,5 6 11,5 25
k1355697 k.A. 5 4 k.A. 10,5 19,5
k1455797 K.A. 5 K.A. K.A. 14 19
k1556421 4 5 3 6 10,5 28,5
k1556476 K.A. K.A. K.A. K.A. n.A. 0
k8811202 k.A. k.A. k.A. k.A. n.A. 0
k9555323 5 5 4 6 11,5 31,5

k.A. = keine Abgabe
n.A. = nicht Anwesend/Abgegeben




